wodBundsulbususAsls MMM-00Z6-85Z (008) ‘B8l [e207 8pISINO-0026-885 (0S9) 19910 URIN-0LE9-08076 YD ‘09SIdUeI4 UBS YINoS ‘Aep UeAY 0£Z-"ou| ‘BulieaulBug usAe)s Jo Asaunod

3 Port Solenoid Valve

Metal Seal

Series VZ200

Large flow capacity

Low power consumption:
1.8 W (75 mA, 24 VDC)

Plug connector
One-touch wiring of plug
connectors

Common pilot exhaust sub-
plate mounted and manifold

Base mounted

JIS Symbol

N.C. N.O.

(A) [N

2 2

(Ry(P) (R)(P)
A\ Caution
i
jFor Safety Instructions and,

1 Solenoid Valve Precautions, refer
o pages 4-18-2 to 4-18-6. .

ot
|

Piping Type of Choice of pilot valve exhaust e —
actuation Individual exhaust Common exhaust SY
S e N.C. VZ212 VZ212
N.O. VZ222 VZz222 * P
Base mounted N.C. — vZa15 —SYJ
N.O. — VZ225 —
Q = Body ported type provides both individual exhaust and common exhaust. VK
Specifications \'/4
Fluid Air/Inert gas —
Maximum operating pressure 1.0 MPa VT
Minimum operating pressure 0.1 MPa —
Proof pressure 1.5 MPa VP
Ambient and fluid temperature —10 to 50°C L
Lubrication Not required
Enclosure Dusproof © VG
Manual override Push type (Safety style), Locking type (Tool required), Locking type (Manual)
Shock/Vibration resistance (m/s?) 150/50 © VP
Type Body ported Base mounted (With sub-plate) [——
Specifications N.C. valve [ N.O. valve N.C. valve [ N.O. valve 5070
Port size M5 Rc 1/8 —_—
é _ C[dm3/(s-bar)] 0.60 0.60 1.0 0.90 vaQ
5 P —A) b 0.43 0.43 0.30 0.25 e —
S Cv 0.15 0.15 0.25 0.21 VKF
% 2.3 C[dmsﬁsbar)] 0.52 0.52 0.85 0.85
= 0.35 0.35 0.35 0.35
S iandi Cv 0.13 0.13 0.22 0.22 vQz
Max. operating frequency (c/s) (AC/DC) ™ 20 20 —
Response time (ms) (AC/DC) @ 17/17 or less 17/17 or less
Weight (kg) © 0.085 0.155

Note 2) Based on JIS B 8375-1981 (Supply pressure; 0.5 MPa; without surge voltage suppressor)

Q Note 1) Minimum operating frequency: as per JIS B 8373 (Once in 30 days)

Note 3) Value for grommet (Sub-plate weight: 0.03 kg)
Note 4) “Note 1)” and “Note 2)” are with controlled clean air.

Note 5) Based on JIS C 0920

Note 6) Impact resistance: No malfunction occurred when it is tested with a drop tester in the axial
direction and at the right angles to the main valve and armature in both
energized and de-energized states every once for each condition.
(Values at the initial period)

Vibration resistance: No malfunction occurred in a one-sweep test between 45 and 2000 Hz.
Test was performed at both energized and de-energized states in the
axial direction and at the right angles to the main valve and armature.

Solenoid Specifications

(Values at the initial period)

= Option

Electrical entry

Grommet (G), Plug connector (L), Plug connector (M), DIN terminal (D)

AC 50/60 Hz

100, 200, 24 *, 48 %, 110*, 220 *

Coil rated voltage (V) DC

24,6%,12%,48*

Allowable voltage fluctuation (%)

—15 to +10% of rated voltage

Coil insulation type

Class E or equivalent (120°C) @

Temperature rise (°C)

45 or less

1.8 (With indicator light: 2.1)

4.5/50 Hz, 4.2/60 Hz

Power consumption (W) DC
Inrush
Apparent power (VA) AC Holding

3.5/50 Hz, 3/60 Hz

Surge voltage suppressor

DC: Diode, AC: ZNR

Indicator light

DC: LED (Red), AC: Neon bulb

Q Note 1) In the case of grommet type, it is equipped on the middle of lead wire.

Note 2) Based on JIS C 4003

Option
Description Part no. Note
Foot bracket (With screw) ® VZ2000-37A-2 For VZ2[J2
Silencer M5 AN120-M5 Noise reduction: 18 dB or more (@8 x 17¢)
R 1/8 @ AN110-01 Noise reduction: 21 dB or more (913 x 38¢)

Q Note 1) For body ported type Note 2) For sub-plate mounted type

SMC

O

4-15-1

VFN



wooBuniesulBusUaAe)S' MMM-0026-852 (008) a1V (8207 BPISINO-0026-885 (0S9) :99H0 URW-0.£9-08016 YO ‘09SIouRI4 UeS YInos ‘Aep ueky 0Sz-oul ‘BuuaauiBug usnals Jo ASaunod

Series VZ200

How to Order

VZ2 |1

Series V22001

Type of actuation
1 N.C. (Normally closed)
2 N.O. (Normally open)

Body ported 2

Base mounted 5

Option
2 1 1 G | M5 | F* Foot bracket
U Silencer
K* Foot bracket + Silencer
Q * Only body ported type
Port size
Light/Surge voltage suppressor Body ported | M5 M5 x 0.8
Body type Nil None Base Nil | Without sub-plate
Individual pilot exhaust z With light/surge voltage suppressor g o1 Rc 1/8
Common pilot exhaust (Indicator light is not available .
for grommet type.) Manual override
Common pilot exhaust ] Nil Push type (Safety style)
s With surge voltage suppressor B Locking type (Tool required)
(Grommet type) -
Rated voltage c Locking type (Manual)
1 100 VAC, 50/60 Hz = “DOZ” is not available.
2 | 200 VAC, 50/60 Hz )
Electrical entry

3* | 110 VAC, 50/60 Hz

4* | 220 VAC, 50/60 Hz

5 24 VDC

6* 12 VDC

9* Other
* Option

4-15-2

G: Grommet, L: L plug connector,
Lead wire length With lead wire
300 mm

D: DIN terminal H: Grommet,
Lead wire length

600 mm

DO: DIN terminal,
Without connector

MO: M plug connector,
Without connector

LN: L plug connector,
Without lead wire

LO: L plug connector,
Without connector

MN: M plug connector,
Without lead wire

M: M plug connector,
With lead wire

Q Type “G”, “L” and “M”: Lead wire 300 mm

o
5




wooBuniesulBusUaAe)S' MMM-0026-852 (008) a1V (8207 BPISINO-0026-885 (0S9) :99H0 URW-0.£9-08016 YO ‘09SIouRI4 UeS YInos ‘Aep ueky 0Sz-oul ‘BuuaauiBug usnals Jo ASaunod

Construction (Body ported)

3 Port Solenoid Valve .
Metal Seal, Body Ported/Base Mounted Series

VZ200

N.C. (VZ212)

N.O. (VZ222)

V100
i ® —
i P sY
i o SYJ
: 5 4 N
1 7 VK
= vz
N VT
VP
11 —
VG
Component Parts Replacement Parts —
No. Description Material Note No. Description Material Part no. VP
[©) Body Aluminum die-casted Platinum silver (@ | Return spring Stainless steel —
@) Spool/Sleeve Stainless steel (®) | O-ring NBR 3070
® Piston Polyacetal ® |Seal NBR —
@ | O-ring NBR
O-ring NBR VQ
@ | Mini Y seal NBR
Round head combination screw | Carbon steel VKF
() | Round head combination screw | Carbon steel —_—
@ |Pilot valve assembly — SCze000-0-0 VQzZ
VFN
4-15-3

O



wooBuniesulBusUaAe)S' MMM-0026-852 (008) a1V (8207 BPISINO-0026-885 (0S9) :99H0 URW-0.£9-08016 YO ‘09SIouRI4 UeS YInos ‘Aep ueky 0Sz-oul ‘BuuaauiBug usnals Jo ASaunod

Series VZ200

Construction (Sub-plate mounted)

N.C. (VZ215)

W

.Y ——

A

9

"

'

Component Parts

®

N.O. (VZ225)

LB Y o

s

Replacement Parts

No. Description Material Note

@® Body Aluminum die-casted Platinum silver
@) Spool/Sleeve Stainless steel

® Piston Polyacetal

) Sub-plate Aluminum die-casted Platinum silver

Sub-plate Assembly Part No.: VZ200-S-01

Q * Mounting bolt and gasket are not attached.

No. Description Material Note
(%) | Return spring Stainless steel

® | Gasket NBR

@ | O-ring NBR

Seal NBR

© | O-ring NBR

O-ring NBR

) | Mini Y seal NBR

(12 | Round head combination screw | Carbon steel

(3 | Round head combination screw | Carbon steel

Round head combination screw | Carbon steel

@5 | Pilot valve assembly — SCz20oo-0-0

How to Order Pilot Valve Assembly

SCZ22 |G

L1Hq

Series VZ200 1 | Rated voltage
- Pilot pressure exhaust 1 |100 VAC, 50/60 Hz
Electrical entry Manual override Spacer side exhaust 200 VAC, 50/60 Hz
G 300 mm lead wire Nil | Push type (Safety style) 1 (Type 20) 3* | 110 VAC, 50/60 Hz
“H | Grommet 600 mm lead wire B | Locking type (Tool required) Body side exhaust 4* | 220 VAC, 50/60 Hz
L L plug With lead wire C Locking type (Manual) 2 (Type 30, 50) z* f‘z‘ xgg
% connector 7&;?5;:?:?&:; Light/Surge voltage suppressor 9 Other
M With lead wire Nil None * Option
“un| Mplug Without lead wire Z * | With light/surge voltage suppressor
W connector Without connector S With surge voltage suppressor
DIN With connector # Indicator light is not available for
"DO | terminal [Without connector Q grommet type.
* “DOZ” is not available.
4-15-4

O
5



wodBundsulbususAsls MMM-00Z6-85Z (008) ‘B8l [e207 8pISINO-0026-885 (0S9) 19910 URIN-0LE9-08076 YD ‘09SIdUeI4 UBS YINoS ‘Aep UeAY 0£Z-"ou| ‘BulieaulBug usAe)s Jo Asaunod

Dimensions: Body Ported

3 Port Solenoid Valve .
Metal Seal, Body Ported/Base Mounted Series

VZ200

Grommet: VZ2; 2-CIGH(S)-M5

141 2-92.8 mounting hole

)

Manual override 205
(Non-locking)

N

Manual override

(Locking type (Manual))
Manual override

(Locking type (Tool required))

<
kS)
g —
88% 2-02.8 mounting hole
o L
5T 2 [
ot i jL lf‘ﬁx
8 e
N N R I R L7 B I B 1~ g 8
| | &
T | ©
[8.8 137 | 2
71
4 {? oy
H - T £
w ~
35.5 10.8 |83 [\ 3-M5x038
Pilot EXH

L plug connector: VZ2}2-[1L(Z)-M5

i ——
300
('Lead wire Iength)I

With light/surge voltage suppressor

With foot bracket: VZ23}2-0001-M5-F

0 1eny >
< | ; .
- = N O e
fo'e} a==1
— L
Fol O
136[18.5 2-03.5
17 117 mounting hole
R 3
i FE:FSS

.
T
I

26,
N
W

o @iﬁ;

FPY

Locking type manual override

DIN terminal: VZ232-00D(Z)-M5

O

i : 2-92.8 mounting hole Applicable cable O.D. 3.5 to 7
B ¥ (E
{j — ‘\ L 2l Q With light/surge voltage suppressor
L i b ‘ o +O1 .
88 137 f ‘ 2-02.8 mounting hole
71 [ g 9
A$‘ < {g
& Rk
' ~|N
M plug connector: VZ23;2-01M (Z)-M5 i) + -
88| [13.7] w
[sp)
With light/surge voltage suppressor Max.10 + + 8
l%,ﬁ i 2-2.8 mounting hole
=
B < I —
e N ” 0 of Q)
Y ) o|~ & N
_ﬁ‘i* <
89137
80.5
4-15-5




wodBundsulbususAsls MMM-00Z6-85Z (008) ‘B8l [e207 8pISINO-0026-885 (0S9) 19910 URIN-0LE9-08076 YD ‘09SIdUeI4 UBS YINoS ‘Aep UeAY 0£Z-"ou| ‘BulieaulBug usAe)s Jo Asaunod

Series VZ200

Dimensions: Sub-plate Mounted

Grommet: VZ2;5-015 (S)-01

ey S

Manual override

(Non-locking)

32
27

24
j

43

86

-

(e .k
S @)g—%
(=3
Locking type manual override
il oo
83
| oF=
_C PE|PA
SHRR N
25 M5 x 0.8
(Pilot EXH)
L: vVZ235-01L(Z)-01
765
= J;
.l
s ,
" E } With light/surge voltage suppressor
Ei i
By S B -
4 e :
)
2 a1 <} @ hu
25\ ! Msxo8 ‘
(Pilot EXH) 3-Rcl%
M: VZ2;5-C1M(Z)-01

With light/surge voltage suppressor

=300

(Lead wire length

L 35
o—
PE|PA
N N
25
M5 x 0.8
(Pilot EXH)

Lead wire length

2-04.5
mounting hole

245

Manual override

(Locking type (Manual))

Manual override

(Locking type (Tool required))

-

s

m i
LA
£

=

05

19.5
|

CRiNE

455

50

3-Rc¥%

DIN terminal: VZ2}5-01D(2)-01

Applicable cable O.D. 63.5t0 7
Max

84

With light/surge voltage suppressor

il

o

195

7

@ Q)

43

TN

3-Rck

|
${ o © ==
%%' 8
1@'
E PE PA\ g s\ @
Q= e Q
2.5, 11\
M5 x 0.8 3-Rc 1/8
(Pilot EXH)

™)

4-15-6

O
5




wooBuniesulBusUaAe)S' MMM-0026-852 (008) a1V (8207 BPISINO-0026-885 (0S9) :99H0 URW-0.£9-08016 YO ‘09SIouRI4 UeS YInos ‘Aep ueky 0Sz-oul ‘BuuaauiBug usnals Jo ASaunod

Series VZ200
Manifold Specifications

Manifold Variations: VV32Z2

Model N
Manifold type Single base, B mount V100
Passage Common SUP/EXH type p—
Valve stations Max. 20 stations SY
VV322-50-061-C] -
Manifold base model | VV3Z2-20 | VV3Z2-30 VV3Z2-50 VV3Z2-S50 —
Individual exhaust | Common exhaust Common exhaust Common exhaust SYJ
Built-in One-touch fittings | Built-in One-touch fittings
Pilot valve exhaust VK
Piping direction/ . T . Side/Base
2(A) port T Top/Valve Side/Base (Opposite side of solenoid) (Same side of solenoid) VT
Port size M5 x 0.8 M5 x 0.8, Rc 1/8 [ C4,C6 C4, C6
P, E port | Port size Rc 1/8 Rc 1/8 VP
Applicable VZ212-000-M5 VZ215-000 ——
V;’Ee e el VZ222-000-M5 VZ225-000 VG
Body ported Base mounted (Without sub-plate) —
Blanking plate WZ200-32A1 | W2200-31A1 | VVZ200-31A-2 | VVZ200-32A-2 VP
Screws and Gasket Assembly Part No. S070
Model Part no. —
VV372-20 BG-VZ202 vaQ
5 VV3Z2-30 BG-VZ203 —
VV322-50-061-C6 VV3ZQ'2% o BG-VZ205 VKF
How to Order Manifold Base i
I | . _
Series VZ200 2(A) port size on base side ———
Manifold Wodel VV372-50 VFN
_L———¢Symbol Symbol VV3Z2-S50 * —
Stations _ L Passage speciiontons . i Without 2(A) port
- Applicable base Nil
0 2stations  symbol 1(P) 3(R) 2(A) (Body ported type 20, 30)
A N . M5 M5 x 0.8
20 | 20 stations 1 Common|Common | Top, Side | Type 20, 30 and 50 o1 Rc 1/8
. . . . ca Built-in One-touch fittings
Manifold specifications/Single base type Applicable tubing O.D. g4
B mount (P/E port size) e Built-in One-touch fittings
- Applicable tubing O.D. 26
- P, E port | Applicable valve
Symbol e Port size model + VV/3Z2-850: Only C4 and C6
Body ported Instruct by specifying the valves, blanking plate option to be mounted on the
e (Individual pilot exhaust) Rc 1/8 VZz2t2 manifold along with the manifold base model no. And for the order of valves
Body ported installation or option’s position, instruct separately by the manifold
30 (Common pilot exhaust) Rc 1/8 vVzar2 specification sheet.
Base mounted (Example)
h <Top ported, individual pilot exhaust> <Side ported, common pilot exhaust>
01, por direégg’nmom&'gspi{g"siz)e‘h;‘;z%noid vave| FC 18 vzaris VV322-20-081 (8 stations) VV3Z2-50081-C6 (8 stations)
: VZ212-1G-M5..-.-. 5 pcs VZ215-5M:-...... 5 pcs.
Base mounted VZ212-1G-M5.----- 2 pcs. VZ215-5M-:+--.-- 3 pcs.
S50* (Common pilot exhaust) Rc 1/8 VZ205 VVZ200-32A-1----- 1 pc. (Blanking plate)
A port direction: Same side of solenoid valve <Side ported, common pilot exhaust>

Q * Type S50 is available only with built-in One-touch fittings.

VV3Z2-50-081-01
VZ215-1G

O
5

(8 stations)
5 pcs.

- 2 pCs.

1 pc. (Blanking plate)

4-15-7



wodBundsulbususAsls MMM-00Z6-85Z (008) ‘B8l [e207 8pISINO-0026-885 (0S9) 19910 URIN-0LE9-08076 YD ‘09SIdUeI4 UBS YINoS ‘Aep UeAY 0£Z-"ou| ‘BulieaulBug usAe)s Jo Asaunod

Series VZ200

Dimensions: Individual Exhaust/Common Exhaust
Individual exhaust: VV3Z2-20

b o
@

d

74
e o
{EJ"
<
ﬁt;
<<
R
W{lq
Feop

=
=y b
57
71

Pilot EXH

S
17}
(G) 5 (L) ) gl (D)
2 1<) 51
[} 1723 Ql
= (%] =]
g o al
2 § %PHO‘[EXH
Rk % 4-Rels g §
P=16_19_ nM5x08 -Ro’6 S g S
2-04.3 25 > s =)
mounting - 8, > 2
hole — +— ‘Tﬁ g o §
2 F] k=)
< o =
=y z £
£ = =
= £
=

L
T‘ @
= N I
= T 2.
55 L =300 =300 615 g =7l
L2 (Lead wire length) (Lead wire length) ® = 41.5 67.1 =
Manual override ol 525 75 %
(Non-locking) 3 555 =
n: Stations

sl 2 | 3| 4|5 |6 |7 |8 |9 |10 Formula

Li | 43 |59 | 75| 91 107|123 | 139 | 155|171 | Li=16n+ 11

L2 | 54 | 70 | 86 [102 | 118 | 134 | 150 | 166 | 182 | L2=16n + 22

Common exhaust: VV3Z2-30

(o) (L) (M) (D)

2
g 4
5 5
s
g B a3 g
n-M5 x 0.8 195 2 (Al = 195 s 19.
P=1619, /~ 2043  [14§ £ 143 3 725 3 EEI
i S 85| o 5 .
_[,25)/ mounting hole 89| > ) S 858 S ;
SER AR | s [THers s rroe 112
o e vi@v%ﬁvév : bl =] gl g & %wrm 2 il N B
< 9 |¢g | |@ d (R = 2 L olZ| £ i NN
‘ - £ i 5 I = | leS—
@ i <™ L I A-RcY% = 2
; 3 . I -Relé = & y
LLJ i U L;I \ \eRole S]] \2m5x08 = 4Re¥ ) M\;‘;-F(‘)CQ/B
R | 2-M5x 0.8 (Pilot EXH) = ) Bt EXi)
' (Pilot EXH) 5 s
55 Ls =30 63 o8 b
[ (Lead wire length) % £ 2-M5 x 0.8 68.5 o
E (Pilot EXH) as— S— x-
3 T
= =
n: Stations

ol 2 [ 3] a5 ]e6[7][8]9]10 Formula

L1 43 | 59 | 75 | 91107 | 123|139 | 155|171 | L1=16n+ 11

L= | 54 | 70 | 86 | 102 | 118 | 134 | 150 | 166 | 182 | L2=16n+22

4-15-8



wodBundsulbususAsls MMM-00Z6-85Z (008) ‘B8l [e207 8pISINO-0026-885 (0S9) 19910 URIN-0LE9-08076 YD ‘09SIdUeI4 UBS YINoS ‘Aep UeAY 0£Z-"ou| ‘BulieaulBug usAe)s Jo Asaunod

Metal Seal, Body Ported/Base Mounted Series

Dimensions: Common Exhaust

3 Port Solenoid Valve

VZ200

Individual: VV3Z2-50

With light/surge voltage suppressor

With light/surge voltage suppressor

= 300 (Lead wire length)

(G) (L) (M) (D)
With light/surge voltage suppressor
With light/surge voltage suppressor = 80 2
] =300 (Lead wire length) glg 2M5X 08 126 ] g
IVINanulaI c:./ernde P=17 2 oMEX08 2MBXO8 f(;ﬂ % Pilot EXD:| mm
(Non-locking) ] Pilot EXH Pilot EXH =3 @ 2Me0
2-04.3 mounting hole i 1 % [“ T EX)

‘ é é} v - - f f L K mg -
~ Hele, N ! I 0.2 Wi g o 2 V100
e SR = ol 1t =

Snsine s " s\ V00 _
N L@J‘lrlu{‘\[@ — o = 85 Ve (av
s 4-Rel 4-Rck 5. Na-Ro 1/8
85 L Mﬁ - P SY—
s 185 —
88 a8 13 84 SYJ
I —
0 VK
= ’A@A@ RoTings Wg]* L
; 0
__l_ 4 n-Re %4M5X 0.8 i VZ
L4 n: Stations
sl 2 | 3| 4| 5|6 | 78] 910 Formula VT
Li | 44 | 61 | 78 | 95|112| 129 | 146 | 163 | 180 | Li=17n+ 10 L
L. | 61 | 78 | 95 [ 112 | 129 | 146 | 163 | 180 | 197 | L==17n + 27 VP
Common exhaust: VV3Z2-50 (Built-in One-touch fittings manifold) —
(G) (L) (M) (D) VG

P
S070

(@)

(L)

Common exhaust: VV3Z2-S50 (Built-in One-touch fittings manifold)

(M)

(D)

O
:

L2 A With light/surge voltage suppressor
Lt 1 With light/surge voltage suppressor With light'surge voltage suppressor
| 4-Rel%
o] P [
4| | el St
MSLECIELEL ! VT
R~ ! i
3 T 2-04.3 mounting hole i |
Iy
Manqal == £ \ wan} —
(o’\\‘/err:dek_ ) 245 [P=16 =30 = 5 3 %&& T 74.9 9|
on-locking (Lead wire length) (Lead wire lepgth) -—395 % ol 495 ] 825 %
[ ees ] B ) 605 z
iooh bh o8 3 635
B P JE AR
9 d A A A A A 3
o PO n: Stations
[25 w2 2 [ 3[4[5]6[7][8]9]10 Formula
L1 43 | 59 | 75 91107 | 123|139 | 155|171 | Li=16n+ 11
L2 65 | 81 | 97 [ 113 | 129 | 145|161 | 177 | 193 | L2=16n + 33
4-15-9

=4
2.5 %
74.9 S
x08
Frig.2es Lsri\ﬁa%ualoverride ZM5X08 Vo8 i
1 =T —
_ . (Non-locking) T @ 500 . ﬂ VQ
2143 mounting hole " s = M0 Withlight 2
| = | ,‘QI (Lead wire length) IEI" Hglqoo surge voltage | p—
g [ e Lg N mAUS =l - € =t ) suppressor VKF
g e Ll | % 4-Rol% il 208 4-Re 1/8 N
R side 26 VQZ
495 I
i Ll 695
oo l__g%
S
1 e TP !-i?] - o n: Stations
— <+
e AlLA A XVA‘@» & gy 2 | 3 | 4|5 |6 |7 |89 |10 Formula —
“IzE L. | 43 | 59 | 75 | 91]107123]139 155|171 Li=16n+11 VFN
L2 65 | 81 | 97 | 113|129 | 145|161 | 177 | 193 | L2=16n + 33



3 Port Solenoid Valve

Metal Seal

Series VZ400

Large flow capacity

Low power consumption:
1.8 W (75 mA, 24 VDC)

Plug connector
One-touch wiring of plug
connectors

Common pilot exhaust sub-
plate mounted and manifold

Model
Pioin Type of Choice of pilot valve exhaust
ping actuation Individual exhaust Common exhaust
N.C. VZ412 VZ412*
Body ported N.O. VZ422 VZ422*
N.C. — VZ415
Base mounted NO. — VZ425

Q * Body ported type provides both individual exhaust and common exhaust.

Specifications
Fluid Air/Inert gas
Maximum operating pressure 1.0 MPa
Minimum operating pressure 0.15 MPa
Proof pressure 1.5 MPa
Ambient and fluid temperature —10 to 50°C

Lubrication

Not required

10

wodBundsulbususAsls MMM-00Z6-85Z (008) ‘B8l [e207 8pISINO-0026-885 (0S9) 19910 URIN-0LE9-08076 YD ‘09SIdUeI4 UBS YINoS ‘Aep UeAY 0£Z-"ou| ‘BulieaulBug usAe)s Jo Asaunod

Enclosure Dustproof ©
Manual override Push type (Safety style), Locking type (Tool required), Locking type (Manual)
Shock/Vibration resistance (m/s?) 150/50 ©
Type Body ported Base mounted (With sub-plate)
Specifications N.C.valve | N.O.valve N.C.valve | N.O.valve
Port size Rc 1/8 Rc 1/8, 1/4
g |, _, | Cldm¥sbar) 2.0 2.0 2.4 2.4
-2 b 0.14 0.17 0.19 0.19
g [ P=A C 0.49 0.49 0.57 0.57
g v . . .
s Cldm?/(s-bar)] 2.2 2.2 22 1.9
: (i:z:) b 017 0.17 0.11 0.32
[y Cv 0.53 0.53 0.49 0.45
Max. operating frequency (c/s) (AC/DC) 15 15
Response time (ms) (AC/DC) @ 21/21 or less 21/21 or less
Weight (kg) © 0.125 0.250

Note 1) Minimum operating frequency: As per JIS B 8373 (Once in 30 days)

Note 2) Based on JIS B 8375-1981 (Supply pressure; 0.5 MPa; without surge voltage suppressor)

Note 3) Value for grommet (Sub-plate weight: 0.055 kg)

Note 4) “Note 1)” and “Note 2)” are with controlled clean air.

Note 5) Based on JIS C 0920

Note 6) Impact resistance: No malfunction occurred when it is tested with a drop tester in the axial
direction and at the right angles to the main valve and armature in both
energized and de-energized states every once for each condition. (Values
at the initial period)

Vibration resistance: No malfunction occurred in a one-sweep test between 45 and 2000 Hz.

Test was performed at both energized and de-energized states in the
axial direction and at the right angles to the main valve and armature.

Base mounted (Values at the initial period)
Solenoid Specifications + Option
Electrical entry Grommet (G), Plug connector (L), Plug connector (M), DIN terminal (D)
. AC 50/60 Hz 100, 200, 24%, 48%, 1107, 220"
JIS Symbol Coil rated voltage (V) DC 24,67, 12", 48"
N.C. N.O. Allowable voltage fluctuation (%) —15to +10% of rated voltage
A) (é) Coil insulation type Class E or equivalent (120°C) @
T Temperature rise (°C) 45 or less
EZ[XSE : EZD;];% Power consumption (W) DC 1.8 (With indicator light: 2.1)
Inrush 4.5/50 Hz, 4.2/60 Hz
(R)}(F) (RY(P) Apparent power (VA) AC Tkt 3.5/50 Hz, 3/60 Hz
Surge voltage suppressor DC: Diode, AC: ZNR
Indicator light DC: LED (Red), AC: Neon bulb
Q Note 1) In the case of grommet type, it is equipped on the middle of lead wire.
Note 2) Based on JIS C 4003
Option
Description Part no. Note
Foot bracket (With screw) VZ4000-22A For VZ4[O2
Silencer R 1/8 AN110-01 No?se reduct?on: 21 dB (913 x 38¢)
R1/4® AN203-02 Noise reduction: 25 dB (916 x 36¢)
Q Note 1) For body ported type Note 2) For sub-base mounted type
4-15-10

SVC

O



11

3 Port Solenoid Valve .
Metal Seal, Body Ported/Base Mounted Series

VZ400

How to Order

wooBuniesulBusUaAe)S' MMM-0026-852 (008) a1V (8207 BPISINO-0026-885 (0S9) :99H0 URW-0.£9-08016 YO ‘09SIouRI4 UeS YInos ‘Aep ueky 0Sz-oul ‘BuuaauiBug usnals Jo ASaunod

Option
VZ4 1 2 m 1 G - 01 m F* Foot bracket
I V) Silencer
Series VZ400 1 K* Foot bracket + Silencer
. * Only body ported type
Type of actuation .
Port size
1 N.C. (Normally closed)
2 | N.O.(Normally open) Body ported :\)11| — Rf 1/i —
Light/Surge volt ressor L Wihou subpate
Bodyv tvpe - ght/Surge voltage suppresso Base mounted | 01 Rc 1/8 V1 00
y typ il None 02 Rc 1/4 —
Individual pilot exhaust With light/surge voltage suppressor
Body ported 2| Gommon pilot exhaust z (Indicator light is not available Manual override SY_
Base mounted 5 | Common pilot exhaust for grommet type.) Nil Push type (Safety style)
S With surge voltage suppressor B | Locking type (Tool required) SYJ
Rated voltage = “DOZ” is not available. c Locking type (Manual) —_—
1_|100 VAC, 50/60 Hz . VK
2 [200 VAC, 50/60 Hz Electrical entry L
3* [110 VAC, 50/60 Hz G: Grommet, L: L plug connector, LN: L plug connector, LO: L plug connector, D: DIN terminal VZ
4* |220 VAC, 50/60 Hz Lead wire length With lead wire Without lead wire Without connector
5 | 24VDC %
6% | 12VDC VT
9* Other —
* Option VP
H: Grommet, M: M plug connector, MN: M plug connector, MO: M plug connector, DO: DIN terminal, |
Lead wire length With lead wire Without lead wire Without connector Without connector VG
: S070
Q Type “G”, “L”, and “M”: Lead wire 300 mm L
Construction (Body ported) vaQ
N.C. (VZ412) N.O. (VZ422) VKE
G A A9 el AN £ T
@ ' 8 5 @ Y

@
Component Parts Replacement Parts
No. Description Material Note No. Description Material Note
©) Body Aluminum die-casted Platinum silver (@ |Return spring Stainless steel
@) Spool/Sleeve Stainless steel (® |O-ring NBR
©) Piston Polyacetal ® |Seal NBR
@ |O-ring NBR
O-ring NBR
@ |O-ring NBR
Mini Y seal NBR
@) |Round head combination screw | Carbon steel
@2 |Round head combination screw | Carbon steel
13 |Pilot valve assembly — SCz4000-0-0
4-15-11

O
5



wooBuniesulBusUaAe)S' MMM-0026-852 (008) a1V (8207 BPISINO-0026-885 (0S9) :99H0 URW-0.£9-08016 YO ‘09SIouRI4 UeS YInos ‘Aep ueky 0Sz-oul ‘BuuaauiBug usnals Jo ASaunod

Series

VZ400

Construction: Sub-plate Mounted

N.C. (VZ415)

_@.‘

N.O. (VZ425)

-

|
[\
.

r

Wi

Component Parts

A

r
10

T
iXe]

Replacement Parts

No. Description Material Note No. Description Material Part no.
@ Body Aluminum die-casted Platinum silver (® | Return spring Stainless steel
@ Spool/Sleeve Stainless steel ® | Gasket NBR
6 Piston Polyacetal @ | O-ring NBR
@ Sub-plate Aluminum die-casted Platinum silver Seal NBR
© | O-ring NBR
O-ring NBR
o1 -ri
Sub-plate Assembly Part No.: VZ400-S- o, % ’\OA.“,“s | :22
- ini Y sea
Q * Mounting bolt and gasket are not attached. @3 | Round head combination screw | Carbon steel
Round head combination screw | Carbon steel
@5 | Round head combination screw | Carbon steel
Pilot valve assembly — SCz4000-0-0
How to Order Pilot Valve Assembly
Series VZ400 1 | Rated voltage
_ - Pilot pressure exhaust 1 |100 VAC, 50/60 Hz
Electrical entry Manual override ) Spacer side exhaust . 200 VAC, 50/60 Hz
G 300 mm lead wire Nil Push type (Safety style) (Type 20) 3* 110 VAG, 50/60 Hz
R | CGrommet 7600 mm lead wire B[ Locking type (Tool required) , | Bodyside exhaust 1 200 VAC, 50/60 e
L With lead wire Cc Locking type (Manual) (Type 30, 50) 5 | 24VDC
— L plug Mo e 6% | 12VDC
LN connector Without lead wire .
o] M Without connector Light/Surge voltage suppressor 9 Other
M With lead wire Nil None * Option
wn| M P'U? Without lead wire Z* | With light/surge voltage suppressor
MO connector Without connector S With surge voltage suppressor
D DIN With connector + Indicator light is not available for
DO terminal Without connector grommet type.
+ “DOZ” is not available.
4-15-12

o
5




wodBundsulbususAsls MMM-00Z6-85Z (008) ‘B8l [e207 8pISINO-0026-885 (0S9) 19910 URIN-0LE9-08076 YD ‘09SIdUeI4 UBS YINoS ‘Aep UeAY 0£Z-"ou| ‘BulieaulBug usAe)s Jo Asaunod

Metal Seal, Body Ported/Base Mounted Series

Dimensions: Body Ported

3 Port Solenoid Valve

VZ400

195

With light/surge voltage suppressor

Grommet: VZ4)2-15(S)-01 With foot bracket: VZ4)2-001-01-F
2-93.4 mounting hole ;.9 i -
19.5 = T 2p4p 2-045
2;?3 1223! ‘ ¥inting hole
: o _ @4 i I P
e S|~
3 o
W @ | “‘““Fm:f':} f:-jﬁ
Manual override‘ 28.6 27 ' (zn:m (e8]
(Non-locking) o | ‘J JL
_ Manual override f - ray |
Manu'al override (Locking type (Tool required)) \ 3 = ——-—I ’ *—I
(Locking type (Manual)) 2-¢3.4 mounting hole ] i p i
) - e | [ Ted Bl
gg2 & R o] ReS
832l :ﬂt?\ | VS
OIi T - L Ld} *Y J 1 I ‘ ; | \ i -
© 0 ~ (q\J‘ 1 T
i &539,“’ \_3.relb ‘ 0|\ Foppbragkat
3 © <
12 19.6
84
3-Rc 1/8
4 —Q o
& mﬁ/ 5 -
s —|@ z |
355 167 | 11 °
Pilot EXH
Locking type manual override
L VZ412-0L(2)-01 DIN terminal: VZ412-01D(Z)-01
5
5
8le
il _z With light/surge voltage suppressor
(j AR 2-3.4 mounting hole
= | ?V Applicable cable O.D. 3.5 to a7
© !
. 4 i ~ o Pg7
| E— | S
R _—
!

2-63.4 mounting hole

60
l
S

O
:

| h -
NE 4
M plug connector: VZ4;2-[1M(Z)-01 % g o
Y = $ ~
With light/surge voltage suppressor 12 L19 5
— - 84
= L ‘% 2-¢3.4 mounting hole Max.10 91
o LQV
© I— =<
i ' SR
< <
18 121 195
84
‘ | 93.5
(Lead wire length)
4-15-13

13




wodBundsulbususAsls MMM-00Z6-85Z (008) ‘B8l [e207 8pISINO-0026-885 (0S9) 19910 URIN-0LE9-08076 YD ‘09SIdUeI4 UBS YINoS ‘Aep UeAY 0£Z-"ou| ‘BulieaulBug usAe)s Jo Asaunod

Series VZ400

Dimensions: Sub-plate Mounted

re
S

Grommet: VZ4}5-005(S)- &

L

A

(Lead wire length)

=

‘J%TH

M5 x 0.8
(Pilot EXH)

1
64

M5 x 0.8
(Pilot EXH)

Locking type manual override

2-g4.5 mounting hole

G: 300
H: 600

53.5

_1_0_]

24
42 4
IJ
—v- J@”Qy
AR j:i %L. /S ,_‘L
!
ol e P
Manual override / 19 21 |
(Non-locking) 905 =

Manual override
(Locking type (Manual))

Manual override

(Locking type (Tool required))

PE I PA

[ M5x0.8

(Pilot EXH)

L plug connector: VZ4}5-C1L(Z)-5

With light/surge voltage suppressor

i
Tt
y
53.5

Mr
g Iy @
34 W
3-Rc Y, Va

=300

(Lead wire
length)

e

M plug connector: VZ4;5-C1M(Z)- 31

With light/surge voltage suppressor

Lead wire Ien]gth

53.5

23

I

3-Rel%, Y4
100

=

56

15

:

e

+

60.5

\ 3-Rc 4, Ya

DIN terminal: VZ4 }5-01D(Z)-3;

Applicable code 0.D. 93.5t0 7

RE

Pg7

M5 x 0.8

i

| —

%

i@@

3-Rc1/8,1/4 /

98

(Pilot ExH)  Max-10

53.5

4-15-14

O
5




wooBuniesulBusUaAe)S' MMM-0026-852 (008) a1V (8207 BPISINO-0026-885 (0S9) :99H0 URW-0.£9-08016 YO ‘09SIouRI4 UeS YInos ‘Aep ueky 0Sz-oul ‘BuuaauiBug usnals Jo ASaunod

15

Series VZ400
Manifold Specifications

Manifold Variations: VV3Z4

Model
VV324-50-061-U] Manifold type Single base, B mount V1 00
Passage Common SUP/EXH type L
Valve stations Max. 20 stations SY
Manifold base model | VV3Z4-20 | VV3Z4-30 VV3Z4-50 VV3Z4-S50
Individual exhaust | Common exhaust Common exhaust Common exhaust
Built-in One-touch fittings | Built-in One-touch fittings SYJ
Pilot valve exhaust VK
'Y
— . .. . ido/B
2(A) E(lggtgi;o?]lrechon/ Top/Valve Side/Base (Opposite side of solenoid) (Samselg:iae/ ofe;;snoid) VT
rt
i Port size Rc 1/8 Rc1/8,1/4 | _ ©C6,C8 Ce,C8
P, E port | Port size Rc 1/4 Rc 1/4 VP
Aoolioan) VZ412000-01 VZ415-000 —
vglsécri Ogel VZ422000-01 VZ425-000 VG
Body ported Base mounted (Without sub-plate)
Blanking plate VVZ400-31A-1 | WWZ400-32A-1 | VVZ400-32A-2 | VVZ400-31A-2 VP
VV324-50-061-C8 —
Screws and Gasket Assembly Part No. S070
Model Part no. e ——
VV3Z4-20 BG-VZ402 VQ
VV374-30 BG-VZ403
VV3Z74-50 N
-850 BG-VZ405 VKF
vVQz
How to Order Manifold Base
l
Series VZ400 | A port size on base side VFN
Manifold ] VV3Z4-50
. ——— Symbol Symbol VV3Z4-S50 *
Stations Symbol Passage oo ) . Without 2(A) port
02 [2sttions  ¥IN[1P) | sRm) | 2a) | APpicaplebase NIl | (Body ported type 20, 30)
g : . 01 Rc 1/8
20 | 20 stations 1 [Common|Common| Top, Side | Type 20, 30 and 50 02 Rc 1/4

Built-in One-touch fittings

Manifold specifications/Single base type & Applicable tubing O.D. 66
B mount (P/E port size) . Built-in One-touch fittings
— B P, E port | Applicable valve Applicable tubing O.D. 08
ymoo 'ping Port size model + \/V3Z4-850: only C6 & C8.
Body ported
20 (Individual pilot exhaust) Re 1/4 VzZ402 Instruct by specifying the valves, blanking plate option to be mounted on
Body ported the manifold along with the manifold base model no. And for the order of
b valves installation or option’s position, instruct separately by the manifold
30 (Common pilot exhaust) Ro1/4 vzar2 specification sheet.
Base mounted (Example)
50 ~(Common pilot exhaust) Rc 1/4 VZ405 <Top ported, common pilot exhaust>  <Side ported, common pilot exhaust>
2(A) port direction: opposite side of solenoid valve VV3Z4-30-061 (6 stations) VV3Z4-S50-061-C8 (6 stations)
Base mounted xgi} ;1 ggl """ g pcs.
S50* (Common pilot exhaust) Rc 1/4 VZ405 -1G-01--- pcs. )
2(A) port direction: same side of solenoid valve VVZ400-32A-1-----1 pc. (Blanking plate)

<Side ported, common pilot exhaust>

* Type S50 is available only with built-in One-touch fittings. VV3Z4-50-061-01 (6 stations)
VZ415-1Geeeeeeeenes 3 pcs.
VZ425-1G--- 2 pcs

VVZ400-32A-2-----1 pc. .(Blanking plate)

SMC 4-15-15

O



wodBundsulbususAsls MMM-00Z6-85Z (008) ‘B8l [e207 8pISINO-0026-885 (0S9) 19910 URIN-0LE9-08076 YD ‘09SIdUeI4 UBS YINoS ‘Aep UeAY 0£Z-"ou| ‘BulieaulBug usAe)s Jo Asaunod

Series

VZ400

Dimensions: Individual Exhaust/Common Exhaust

Individual exhaust: VV3Z4-20

(G) o (L) (M) ., (D)
2-05.3 n-Rc1/8 4-Re 1/4 o 545 S 549 2
mounting hole' 9 §’ 4Rl o £ 4Ro¥s  of g 4-Rc514/f g
5 E o S —
oL g o 3 % 3 | ke g =g
%o TreaCs 3| 4 teDicq 2 R M g +DIts
o 8l @ ? pe| W 2 e | || “ = b | u? G %7 Be |
8 < . =l = k=, o
| ~|® . = i =g , ~ £ ‘ S
Manual override & ‘ ’pw e LT =3 TTTT \ Pilot E:«zH - \Pilot EXH
(Non-locking) ‘ d | | ’ Pilot EXH I i e l
= “1.( T
14 Li =300 =800 7 5 773 o
L2 (Lead wire length) (Lead wire length) 2 62 85 =
o2 85 g
S|
TV TI WE
©
} 3
o T I ©
Al HRE
n: Stations
g 2 [ 3] 4[5 [ 6] 78] 910 Formula
L1 50 | 69 88 | 107 | 126 | 145|164 | 183 | 202 | L1 =19n + 12
L2 78 | 97 | 116 | 135|154 | 173 | 192|211 | 230 | L2=19n + 40
Common exhaust: VV3Z4-30
(G) (L) (M) (D)
2 2
8 8 8
205.3 % = 57 & 57 e 57
mounting _ 1266, o 266 - 266 3 26.6
hole i c2>.%5 n-Re 1/8 218 105 % 216 _% 216 Y 218 o5
‘ - S 1105 s 105 £ .
ML IR RYEE BEE & wI E iy PSR
S | ol sl AT | o o g a 19« g 1o S MIEle
SRR L e ‘m ) 2| | lafopsd] 2 N 28| | 2 B e
8 :1 ‘ o PAEE 2| pe| E el 2| e YTrELE | B B W
SEAEIE SEm N I a5 S e S e | =R s
T T i 9} t i =
Manual i \ ‘ 0 o ‘ { \ 4-Rc 1/4 r i TR/ ; = IS ==7
{(Non-locking) \ 2.M5 x 0.8 Eé \ | 2-M5 x 0.8 % ; -
‘ (Pilot EXH) | (Pllot EXH) g ‘:U
: ‘ t; =300 (Leadjv:i;rg(l)en th) 735 %’%
(Lead wire length) 9 g
[}
ERE 3
BT E‘ \ ‘ 8’
o Tl ]
) 1]
N Il
n: Stations
o 2 | 3 4[5 [ 678|910 Formula
L1 50 | 69 88 | 107 | 126 | 145 | 164 | 183 | 202 | L1 =19n + 12
L2 78 | 97 [116 | 135|154 | 173|192 | 211 | 230 | L2=19n + 40

4-15-16

O
5




wodBundsulbususAsls MMM-00Z6-85Z (008) ‘B8l [e207 8pISINO-0026-885 (0S9) 19910 URIN-0LE9-08076 YD ‘09SIdUeI4 UBS YINoS ‘Aep UeAY 0£Z-"ou| ‘BulieaulBug usAe)s Jo Asaunod

Dimensions: Common Exhaust

3 Port Solenoid Valve .
Metal Seal, Body Ported/Base Mounted Series

VZ400

17

R side

3[

)
~
<

2-05.3

mounting hole

(Lead wire length)

With light/surge voltage

With light/surge voltage

suppressor suppressor
4-Rc 1/4 614 4-Re1/4
4Rc1/4 | 614
| ‘ 2-M5x 0.8
\ K j
\ Y
' 3
L1 ] P4 —
i I [ ‘; §
I [T RS 28 x08
=T, 13 "53]
=300 =

(Lead wire length)

=300
(Lead wire length)

O
:

779 [ 843 | o

92 %

@©

=
n: Stations

<

g s 2 [ 3| 4] 5[ 6| 78] 910 Formula
E L1 50 | 69 88 | 107 | 126 | 145|164 | 183|202 | L1 =19n + 12
L2 78 | 97 [116 | 135|154 | 173|192 211|230 | L2=19n + 40
4-15-17

Common exhaust: VV3Z4-50 (G) (L) (M) (D)
With light/surge voltage
suppressor
67.5 o
_ With light/surge voltage 645 87.5 %
=300 . [—r—
(Lead wire length) =300  Suppressor ! 8 =% 99 -
P =20 o 2.M5 x 0.8 (Lead wire length) g o
Manual ‘ (Pilot EXH) 2.M5 x 0.8 2-M5 x 0.8
override SIEAIEAIED PN (Pilot EXH)
(Norocking) i [ } i - | (Pilot EXH) . al o |
ByEdEaia Blslg —iled £ #Oal7 | |V100
2 Ny b bl i | o > EENE —
- i S [ R4 g = PANCIPY
ALY bl ol e sy /DR |SY
2053 \ == 4Rc 14, | igs 28| fereaf | [i0s ——
i , X =
angém INg 125 I: o 21.6 g § 5721.6 SYJ
T K —
n-Re1/8, 1/4 ﬂ‘%‘ ﬂﬂe\“f" i VK
jp——— R Na N —
o AFLTRAFTL AT A ©
’ L@ q} @q K’:?@[gl n: Stations VZ
35 ) Aport Re 1/8 oo 2 [ 3] 45 6] 78] 9]10 Formula —
Li | 51| 71 | 91 [ 111131151 171|191 |211| Li=2on+11_ |VT
L2 76 | 96 | 116 | 136 | 156 | 176 | 196 | 216 | 236 | L2 =20n + 36 ——
Common exhaust: VV3Z4-50 (Built-in One-touch fittings manifold) M VP
(G) (L) (M) (D) T
With light/surge voltage VG
suppressor o
L side With light/ e
=300 voltage O 3| VP
P =19295 Manual (Lead wire length) =300 suppressor e
2-95.3 override 2-M5 x 0.8 (Le?d wire lepgth) , 4 —72-M5x 0.8 T
mounting (Non- \ z |1 2 S070
hole locking) mm\ﬁ T W L
; 3 3 ) 3, —
mv — T o B0 VQ
T 3 ySpAcR — o Il
2 gt phplplbllw RN o O ——
R PPt o i R— || |VKF
= R side 4-Rc 1/4 4-Rc 1/4 4-Rc 1/4 4-Rci/d | ———
14 L1
E; vVQz
MUK P
Ly 1
o RN RN NG —‘ =° n: Stations
R o 2 [ 3] 456789 10] Fomua
L1 | 50 | 69 | 88 107|126 | 145|164 |183]202| L1i=19n+12 |yEN
L2 | 78 | 97 |116 | 135 | 154 [ 173|192 | 211 | 230 | L2=19n + 40
Common exhaust: VV3Z4-S50 (Built-in One-touch fittings manifold)
(G) (L) (M) (D)



wodBundsulbususAsls MMM-00Z6-85Z (008) ‘B8l [e207 8pISINO-0026-885 (0S9) 19910 URIN-0LE9-08076 YD ‘09SIdUeI4 UBS YINoS ‘Aep UeAY 0£Z-"ou| ‘BulieaulBug usAe)s Jo Asaunod

Series VZ200/400

/A Precaution 1

I Be sure to read before handiing. For Safety instructions and Solenoid Valve Precautions, refer to page 4-18-2. _ 1

/\ Caution

Surge Voltage Suppressor

Grommet Type Plug Connector Type DIN Terminal Type
AC
©
NE
ZNR
® A
DC laﬂﬂ‘
(red p bl ¥
8l s
=K
Black © ©
(-Jo——~L
ith indi i - Indicator light
With indicator light (AC) Marking (Built in the connector)
© LY
Neon % =
@ Surge voltage suppressor
With indicator light (DC) (Built-in the terminal block)
(e LED
% E * Marking
(-)e
In applications where the supply voltage is
DC, correctly connect the lead wires to +
(positive) and — (negative) indications on the
connector or to the markings.
For those on which the lead wires have been (+
pre-wired, the positive side is red and
negative side is black.
No.1 @
How to Use Plug Connector
Attaching and detaching connectors Connector assembly part no.
1. To attach a connector, hold the lever and No.2 @
connector unit between your fingers and DXT1 70 - 80 - A =
insert straight onto the pins of the
solenoid valve so that the lever's pawl is Lead wi | 1 IL d wi ne
pushed into the groove and locks. ead wire color eac wire No.1®
With socket length (+) o _
2. To detach a connector, remove the pawl Symbol | 1V 11 SOCKEL| Nt — 8 '
from the groove by pushing the lever Lead wire Symbol| -ead vire a |©
downward with your thumb, and pull the Nil | Socketonly | Without _ llength (mm) No.2 ®
connector straight out. (2pcs.) |leadwire  Nil | 300 (=)
- 1 Blue (2) |For 100 VAC 6 600 - )
Molded coil P e With indicator light (AC
c,) ° (é)clmcave groove 2 Red (2) |For200VAC _10 | 1000 1 indicatorfight (AC)
>/ pi 3 Gray (2) |Another VAC _ 15 | 1500 No.1®
| Cover : - 20 | 2000
Lever 4 |Red:+,Black:-|_For DC Neon T =
DC indicator Note) When ordering a valve _25 | 2500 bulb 1O
% Socket part no. with a lead wire of 600 30 | 3000 No.2
Pin DXT170-71-1 mm or longer, be sure to 0. ©
2(  Connector Lead wire indicate  the model
> Ho: ,fa;"gé?/gr%mél number of the valve With indicator light (DC)
|#) Covergeg oi7mm) without connector and i
connector assembly. 0.
DC coil color: +Red, —Black Ex) (+) e =
— . For lead wire length (1000 mm) LED ## 8 O
Crimping the Lead Wire and Socket Solenoid valve: NoZ o
Peel 3.2 to 3.7 mm of the tip of lead wire, VZ2150-5M0-01-+-e-eeeve 5 pcs. (=)
enter the core wires neatly into a socket Connector assembly:

DXT170-80-4A-10-+-----:5 pcs.

and crimp it with a special crimp tool. Be
careful so that the cover of lead wire does
not enter into the crimping part. (Crimping
tool part no.: DXT 170-75-1)

Core wire crimping  Crimping area Core wire

In the case of DC wiring, connect terminal no. 1
of the connector to the positive [+] side, and
terminal no. 2 to the negative [-] side. (Refer to
the marks on the terminal board.)

Lead wire

.

Cover

O
5

18



wodBundsulbususAsls MMM-00Z6-85Z (008) ‘B8l [e207 8pISINO-0026-885 (0S9) 19910 URIN-0LE9-08076 YD ‘09SIdUeI4 UBS YINoS ‘Aep UeAY 0£Z-"ou| ‘BulieaulBug usAe)s Jo Asaunod

19

Series VZ200/400

/A Precaution 2

rBe sure to read before handling. For Safety Instructions and Solenoid Valve Precautions, refer to page 4-18-2.

1
Bon o e e e  m mm mm M M R M M M MR M M S M M M M M Em M Em R m mm Mm Em Em Em mm mm mm mm e e e e mm mm ]

/A Caution

Attaching and detaching lead Connector assembly with protective cover
wires with sockets Connector assembly with protective cover enhances dust protection. -
1. Attaching » Effective to prevent short circuit accidents due to penetration of foreign matter into the V100
Insert the sockets into the square holes connector section. L
of the connector (with + and - * The material of cover is chloroprene rubber for electricity which is excellent in SY
indication) and continue to push the weathering and electrical insulating properties. But don’t splash with cutting oil.
sockets all the way in until the lock by * Simple and unencumbered appearance by adopting round-shaped cord.
hooking into the seats in the connector. SYJ
(When they are pushed in, their hooks —
open and they are locked How to Order VK
automatically.) Then confirm that they —
are locked by pulling lightly on the lead DXT1 70 _1 23_ A = VZ
wires. L
2. Detaching 1 Lead wire length VT
To detach a socket from a connector, Lead wire length
pull out the lead wire while pressing the Symbol | ™" (mm) —
socket’s hook with a stick having a thin Nil 300 VP
tip (approx. 1 mm). If the socket will be 6 600 —
used again, first spread the hook 10 1000 VG
outward. 15 1500 —
Connector 20 ?2000 VP
ﬂd / _ 25 2500 L
s Lead wire 30 *3000 —8070
Socket/ Hgok VQ
Dimensions: Connector Assembly with Cover VKF
How to Calculate the Flow Rate e (32.5) L vQaz
— ©|o = Polarity indication e
For obtaining the flow rate, refer to page o 59‘ Red Black Black 8
4-1-6. 1: = ‘77—77 A
ol F'__Ll I\D
an,, 13 17
L L
VFN

SVC 4-15-19

O



wodBundsulbususAsls MMM-00Z6-85Z (008) ‘B8l [e207 8pISINO-0026-885 (0S9) 19910 URIN-0LE9-08076 YD ‘09SIdUeI4 UBS YINoS ‘Aep UeAY 0£Z-"ou| ‘BulieaulBug usAe)s Jo Asaunod

Series VZ200/400

A\ Precaution 3

- =
:_Be sure to read before handling. For Safety Instructions and Solenoid Valve Precautions, refer to page 4-18-2.

1
-

How to Wire DIN Terminal

/A Caution

Connection

1. Loosen the set screw and pull out the connector
from the terminal block of the solenoid.

2. Pull out screw and insert a screwdriver to the slit
area near the bottom of terminal block to separate
block and housing.

3. Loosen the terminal screws (slotted screws) on the
terminal block, insert the core of the lead wire into
the terminal in accordance with the prescribed
connection method, and attach securely with the
terminal screws.

4. Tighten the ground nut to secure the wire.

Change of electrical entry (Orientation)

After separating terminal block and housing, the cord

entry direction can be changed by attaching the

housing in the desired direction (4 directions in 90

increments).

x |n the case of w/indicator light, avoid damaging the
indicator light with lead wire.

Precautions
Plug a connector in or out vertically, never at an
angle.

Applicable cable

O.D.: 93.5t0 07

(Reference) 0.5 mmz 2 core and 3 core wires
equivalent to JIS C 3306.

4-15-20

Ground nut

Tightening torque
1.65t0 2.5 N-m

Holding screw
Tightening torque
0.3t0 0.4 N-m

Grommet

(Rubber) Housing

(Voltage symbol)
Refer to the table below. (Position for light mounting)

Terminal block

Terminal screw
(3 locations)
Tightening torque
0.2t0 0.25 N-m

Shaved part

DIN Terminal Part No.

Without indicator light \ DXT170-176-1

With Indicator Light

Rated voltage Voltage symbol Part no.

100 VAC 100V DXT170-176-2-01
200 VAC 200V DXT170-176-2-02
110 VAC 110V DXT170-176-2-03
220 VAC 220V DXT170-176-2-04
240 VAC 240V DXT170-176-2-07

6 VDC 6VD DXT170-176-3-51

12 VDC 12VD DXT170-176-3-06
24 VDC 24VD DXT170-176-3-05
48 VDC 48VD DXT170-176-3-53
Circuit with Indicator Light
AC circuit DC circuit
i A
1 5 12
NR R (ep D
NL: Neon bulb D: Protective diode
R: Resister LED: Light emitting diode
R: Resistor

O
5

20



	Series VZ200-VZ400  3 Port Solenoid Valve Metal Seal 
	Series VZ200  3 Port Solenoid Valve Metal Seal 
	Specifications
	How to Order
	How to Order Pilot Valve Assembly
	Construction
	Dimensions
	Manifold Specifications
	How to Order Manifold Base

	Series VZ400  3 Port Solenoid Valve Metal Seal 
	Specifications
	How to Order
	How to Order Pilot Valve Assembly
	Dimensions
	Manifold Specifications
	How to Order Manifold Base

	Precaution


